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CERTIFICATE IN PRIMARY EDUCATION

Term-End Examination

June, 2010

CPE-2 : TEACHING OF MATHEMATICS

Time : 3 hours	 Maximum Weightage : 70%

Note : (i) All questions are compulsory.

(ii) All questions carry equal zveightage.

Answer the following question in about
600 words :
How will you organise mathematics curriculum
in realistic and relevant way in your classroom.

OR
Differentiate briefly between a Lesson plan and a
Unit plan. Discuss the advantages and limitations
of lesson planning.

Answer the following question in about
600 words :
Which method of teaching mathematics would
you prefer to teach geometrical shapes at primary
stage ? Explain through an example.

OR
Discuss briefly the nature and purpose of
Diagnostic Testing. Explain different steps
involved in diagnostic testing.
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3.	 Answer any four of the following in about 150
words :

Use of Teaching-Learning Materials for
enhancing learner's competency	 in
Mathematics,
Importance	 of peer-learning	 in
Mathematics.
Teaching place value of a digit in Decimal,
Concept of Prime numbers and Composite
numbers,

A man gives 3 th of his property to his son,

2 t h to his daughter and remaining to his

wife. What is the share of his wife in total
property ?
Suggest any two enrichment programmes
for fast learners in Mathematics.

	

4.	 Answer the following question in about 600
words :
How is unit planning useful ? Prepare a unit plan
by taking a suitable example from primary
curriculum.
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